
A1 = {x ∈ RN : x = (0, . . . , 0, xn+1, xn+2, . . . )}

A2 = {x ∈ RN : x = (x1, . . . , xn, 0, 0, . . . )}

A3 = {x ∈ RN : limi→∞ xi = a} for a ∈ R

A4 = {x ∈ RN : limk→∞
1
k

∑k
i=1 xi = a} for given a ∈ R

A5 = {x ∈ RN : limi→∞ x2i = a} for given a ∈ R

A6 = {x ∈ RN : x2k = 0 up to finitely many k}

A7 = {x ∈ RN : xn+5 = a} for given a ∈ R

A8 = {x ∈ RN : xi ∈ N ∀i ∈ N}

A9 = {x ∈ RN : x1 + · · ·+ xn = a} for given a ∈ R

A10 = {x ∈ RN :
∑∞

i=1 xi = a} for given a ∈ R

A11 = {x ∈ RN : lim supk→∞
∑k

i=1 xi = a} for given a ∈ R

A12 = {x ∈ RN : lim supk→∞
∑k

i=1 xi ≥ 0}

A13 = {x ∈ RN :
∑∞

i=1 xi <∞}

A14 = {x ∈ RN : lim supk→∞ xi =∞}

A15 = {(0, 0, 0, . . . )}



A1 = {x ∈ RN : x = (0, . . . , 0, xn+1, xn+2, . . . )} ∈ Sn \ Sn+1

A2 = {x ∈ RN : x = (x1, . . . , xn, 0, 0, . . . )} ∈ Tn \ Tn+1

A3 = {x ∈ RN : limi→∞ xi = a} for a ∈ R ∈ I

A4 = {x ∈ RN : limk→∞
1
k

∑k
i=1 xi = a} for given a ∈ R ∈ I

A5 = {x ∈ RN : limi→∞ x2i = a} for given a ∈ R ∈ Tn \ I

A6 = {x ∈ RN : x2k = 0 up to finitely many k} ∈ T \ I

A7 = {x ∈ RN : xn+5 = a} for given a ∈ R ∈ Sn

A8 = {x ∈ RN : xi ∈ N ∀i ∈ N} ∈ S \ T

A9 = {x ∈ RN : x1+ · · ·+xn = a} for given a ∈ R ∈ Sn\Tn,∈ Sn\Sn+1

A10 = {x ∈ RN :
∑∞

i=1 xi = a} for given a ∈ R ∈ S \ T

A11 = {x ∈ RN : lim supk→∞
∑k

i=1 xi = a} for given a ∈ R ∈ S \ T

A12 = {x ∈ RN : lim supk→∞
∑k

i=1 xi ≥ 0} ∈ S \ T

A13 = {x ∈ RN :
∑∞

i=1 xi <∞} ∈ I

A14 = {x ∈ RN : lim supk→∞ xi =∞} ∈ I

A15 = {(0, 0, 0, . . . )} ∈ S \ T


